
copyright:    www.mathinenglish.com

 Christmas Kakuro

Use the digits 1 to 9 to fill the grids so that the numbers in 
the horizontal blocks add up to the clue numbers on the left 
of a block, and the numbers in the vertical blocks add up to 
the clues on top.  Each digit can only be used once per block!
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Answers

Use the digits 1 to 9 to fill the grids so that the numbers in 
the horizontal blocks add up to the clue numbers on the left 
of a block, and the numbers in the vertical blocks add up to 
the clues on top.  Each digit can only be used once per block!
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